%]
~
4
<
=N
=
Q
%]
=
W
a
%]
=]
[%5]
W
Q
=
=4
w
w
~
%]

£juosesodind UoREWOJUI 10 PBSN S1E JUBWINOP SIU3 Ul PAPNIDU| BIEP PUE S1aqLINU Jied ‘SUORAIYSP 3onpoid ||V
JIPIPEWE 6]1q 899PES 48[LISA BA L1 inuesied unin wm ng %

SIN3Lll M\aN




'y
\3 TeCNOROT

STEERING 8 SUSPENSION FPARTS

TEKNOROT REF: B-127

Lateral Arm
e — ]
Weight: 0876
MODEL NO BODY CODE
2-SERIES F22F87
COMPONENTS NUMBER
‘?« SB 1039
»
3 SR 1109
TEKNOROT REF. B-127
Lateral Arm
e — ]
Weight: 0876
MODEL NO BODY CODE
2-SERIES ACTIVE TOURER F45 F46
COMPONENTS NUMBER
‘?« SB 1039
»
3 SB 1109

I
~CEMBER 18’

ADAPTABLEFOR BMIW/

YEAR DIRECTIONS
2014- Rear
NAME DIRECTIONS

Control Arm Pear
Bushing

YEAR DIRECTIONS
2014- Rear
NAME DIRECTIONS

Control Arm Pear
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

335326651569

OEMNO

Part of 33326851569

ADAPTABLE FOR BMIW/

383266851569

OEMNO

Part of 33326851569



7
o ENaRaT

TEKNOROT REF. B-127

Lateral Arm
L —
Weight: 06876
MODEL NO BOODY CODE YEAR DIRECTIONS
COOPER F55 F56 2014- Rear
COMPONENTS NUMBER NAME DIRECTIONS
@ SB 1039
»
“’ 251109 Confro/’Arm Pear
< Bushing

TEKNOROT REF: B-131383
Steering Tie Rod Assembly

Weight: 116  Length: 3266  Bolt Metric. M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS
i3 1stGen 2014- Front Right
COMPONENTS NUMBER NAME DIRECTIONS
‘_‘4 B-131 Tie Rod End Front Right
b B-383 Axial Joint Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR MIINI/

OEMNO

335326651569

OEMNO

Part of 33326851569

ADAPTABLE FOR BMW

OEMNO

32216851410

OEMNO

321066851412

part of 32216851409
part of 32216851410



TEKNOROT REF: B-132383 ADAPTABLE FOR BM w
Steering Tie Rod Assembly :

Weight: 116  Length: 3266  Bolt Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
i3 1st Gen 2014- Front Left 32216851409
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
.L_" B-132 Tie Rod End Front Left 32106851411
Ta] ] o part of 32216851409
= B-383 Axial Joint Front part of 32216851410
TEKNOROT REF: B-138 ADAPTABLE FOR BMW
Suspension Control Arm and Aluminium :
Ball Joint Assembly
Weight: 2.2
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
i3 1st Gen 2014- Front Right 31106863740
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
j SB 1236 Control Arm 1 FIONLLOWEN | ooy o 91106863740,31106863739
Bushing Inner
o
] ;’ SB 1257 C%’,W olArm FIONELOWET | po o 31106863740,31106863739
3 ushing Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



yr } TSXNOROT e

STEERING & SUSPENSION PARTS

TEKNOROT REF: B-139 AoapTaBLE FoR BMW

Suspension Control Arm and
Ball Joint Assembly

-

Aluminium || R

Weight: 2.2
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
i3 1st Gen 2014- Front Left Lower 31106863739
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
j SB 1236 Control Amn FIONCLOWET | oot o 31106863740,31106863739
Bushing Inner
‘}i SB1237 Control Arm 1 FrONCLOWer | ooy o 91106863740,31106863739
3 Bushing Outer
TEKNOROT REF: B-264 ADAPTABLEFOR BMIW/
Lateral Arm
YEAR ONLY
2010-2012
Weight: 0,964
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
1-SERIES £61 ggg £67 2004-2012  Rear Right Upper 38326782238

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: B-264 ApapTABLEFOR BMIW
Lateral Arm

Weight: 0,964

YEAR ONLY
2010-2011

3-SERIES £/ Egé/ 925 2op5-2011  Rear Right Upper 353326782238
TEKNOROT REF: B-265 AoapTaBLEFoR BMW
Latera/Arm VEAR ONLY

2010-2012

Weight: 0,964

EBI EB2 ES7,
ES8

1-SERIES 2004-2012  Rear Left Upper 33326782237

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 5



N TNOROT

b !
W rccrinc o suspension pants MBER 18

TEKNOROT REF. B-265 ApapTAsLEFOR. BMIW
Lateral Arm VEAR ONLY
2010-2011
Weight: 0964
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
3-SERIES ESD/ Egé/EQQ/ £9 2005-2011  Rear Left Upper 33326782237
TEKNOROT REF: B-393 ApapTAsLEFOR. BMIW
Steering Tie Rod

_ﬂiﬁ.

Weight: 065

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

8 IstGen 2014- Front 32106858672

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ TENOROT

STEERING 8 SUSPENSION FPARTS

TEKNOROT REF: CH-372 aoaprasle FoR CHEVROLET
Steering Tie Rod Ax4

e ma

Weight: 0543  Length: 2545  Bolt Metric: M14x1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

COLORADO 1stGen 2003-2012 Front Inner 89060621
TEKNOROT REF.: CH-373 ApapTAsLEFOR CHEVROLET
Steering Tie Rod 4x2

_.

Weight: 0554  Length: 290  Bolt Metric: M14x1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

COLORADO 1st Gen 2003-2012 Front Inner 26095456

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



7
o ENaRaT BRI

TEKNOROT REF: CH-430 aoaptaBleFor CHEVROLET

Steering Tie Rod with actuator assembly

P R ——

e
Weight: 06
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
AVALANCHE 1stGen, GMT800  2001-2006 Rear Inner 26091588
TEKNOROT REF: CH-431 aapTaBLEFOR CHEVROLET
Steering Tie Rod End

Weight: 0,604  Length: 123  Bolt Metric. M14X2  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

AVALANCHE 1stGen, GMTEB00  2001-2006 Front Outer 15891515

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TENOROT

TEKNOROT REF: CH-431 aoarrasleFOR CHEVROLET
Steering Tie Rod End

Weight: 0604  Length: 123  Bolt Metric: M14X2  Housing Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
SILVERADO 1500 1stGen, GMT800 — 1999-2006 Front Outer 15891515
TEKNOROT REF.: CH-431 roapraste For GHEVROLET
Steering Tie Rod End

Weight: 0,604  Length: 123  Bolt Metric. M14X2  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SILVERADO 2500 1stGen, GMT800  1999-2006 Front Outer 15891515

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




Y 5 T&KNOROT

STEERING 8 SUSPENSION FPARTS

TEKNOROT REF: CH-433
Steering Tie Rod

M—

D)

Weight: 0603 Length: 2935  Bolt Metric: M14x1,5
MODEL NO BODY CODE YEAR
SUBURBAN 9th Gen 2000-2006
TEKNOROT REF: CH-433
Steering Tie Rod
D)
Weight: 0603 Length: 2935  Bolt Metric: M14x1,5
MODEL NO BODY CODE YEAR
AVALANCHE 1stGen, GMTB00  2001-2006

EMBER 18’

aorprasleFor CHEVROLET

DIRECTIONS

Front Inner

OEMNO

19152329

aonpTasLeFor CHEVROLET

DIRECTIONS

Front Inner

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

19152329



TEKNOROT REF: CH-453
Steering Tie Rod

| em— o -

D)

Weight: 0634  Length: 3195  Bolt Metric: M14x1,5

MODEL NO BODY CODE YEAR
SAVANA 1500 2nd Gen 2003-2014
TEKNOROT REF: CH-453
Steering Tie Rod
DA
Weight: 0634  Length: 3195  Bolt Metric. M14x1,5
MODEL NO BODY CODE YEAR
EXPRESS 1500 2nd Gen 2003-2014

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

EER1E

ADAPTABLEFOR GMIC

DIRECTIONS

Front Inner

OEMNO

19207100

aonpTasLeFor CHEVROLET

DIRECTIONS

Front Inner

OEMNO

19207100



TEKNOROT REF. CH-561 AaPTABLEFOR CHEVROLET
Steering Tie Rod End 200

Weight: 0548  Length: 213

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
26054936
BLAZER 2nd Gen 1995-2005 Front Outer 8960549360
TEKNOROT REF.: CH-561 aoaprasLeForR CHEVROLET
Steering Tie Rod End 200

Weight: 0548  Length: 213

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
26054936
S-10 2nd Gen 1895-2005 Front Outer 8260549360

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NorROT

STEERING § SUSPENSION PARTS

TEKNOROT REF. CH-561 ADAPTABLEFOR GMIEC
Steering Tie Rod End 200

Weight: 0548  Length: 213

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
26054936
JIMMY 2nd Gen 1995-2001 Front Outer 8960549360
TEKNOROT REF.: CH-861 aoaprasLeForR CHEVROLET
Steering Tie Rod End
P,

Weight: 057  Length: 116  Bolt Metric: M14X2  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

COLORADO 1st Gen 2003-2012 Front Outer 19152655

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF. CH-861 ADAPTABLEFOR GMIEC
Steering Tie Rod End

>

Weight: 057  Length: 116 Bolt Metric: M14X2  Housing Metric. M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CANYON 1st Gen 2004-2012 Front Outer 19152655
TEKNOROT REF.: CH-961 aoaprasLeForR CHEVROLET
Steering Tie Rod End
=
Weight: 066  Length. 1865
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ASTRO 2nd Gen 1995-2005 Front Inner 26059036

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TENOROT

TEKNOROT REF: CH-961 aoarrasleFOR CHEVROLET
Steering Tie Rod End

Weight: 066  Length: 1885

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO

SUBURBAN 8th Gen 1992-2000 Front Inner 26059036
TEKNOROT REF: CI-648 AapTasle FOR. Gf TROEN
Suspension Control Arm and

Ball Joint Assembly

Weight: 2308
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
: Front Right
CI Il 2014 Lower 16141916680
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

. 56661
e SB662

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: CI-648 aoaprasteror PEUGEOT

Suspension Control Arm and
Ball Joint Assembly

Weight: 2.308
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
: Front Right
108 2014 Lower 1614191680
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
. SB 661
e SB 662
TEKNOROT REF: CI-648 AoapTasleFOR TOYOTA
Suspension Control Arm and
Ball Joint Assembly
Weight: 2308
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
: Front Right
AYGO B4 2014 Lower 1614191680
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

. 56661
e SB662

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



P
p ENOROT

TEKNOROT REF: Cl-649 AoapAsLEFOR GfTROEN

Suspension Control Arm and
Ball Joint Assembly

Weight: 2.308
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
C1 Il 2014- Front Left Lower 1614191480
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

. SB 661

SB 662
TEKNOROT REF: CI-649 AoapTasLe FOR. PEUGEOT
Suspension Control Arm and
Ball Joint Assembly
Weight: 2308
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
108 2014- Front Left Lower 1614191480
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

. 56661
e SB662

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: CI-649 Aoaprasteror TOYOTA

Suspension Control Arm and
Ball Joint Assembly

Weight: 2.308
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
AYGO B4 2014- Front Left Lower 1614191480
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
. SB661
a SB662
TEKNOROT REF: DO-331 ADAPTABLEFOR [JODGE
Steering Tie Rod End BICK-LP

;

Weight: 0604  Bolt Metric. M14X1,5  Housing Metric: M17X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RAM 1500 3rd Gen 2002-2009 Front Outer 5175790AF

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



AT
Ap ENOROT

TEKNOROT REF: F-443
Steering Tie Rod

Weight: 0555  Length: 302  Bolt Metric: M14X1,5
MODEL NO BODY CODE YEAR
RENEGADE 2014-

TEKNOROT REF: F-443
Steering Tie Rod

Weight: 0555  Length: 302  Boit Metric: M14X15
MODEL NO BOOY CODE YEAR
500X 2015-

MBER 18’

ADAPTABLEFOR _JEERP

DIRECTIONS

Front

OEMNO

51967456

ADAPTABLEFOR FIAT

DIRECTIONS

Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

51967456



{5 T&XNOROT

TEKNOROT REF. F-798

Suspension Control Arm and
Ball Joint Assembly

(RP no. From:10828)

Weight: 5,568

MODEL NO BOOY CODE YEAR DIRECTIONS
5 Front Right
807 2002-2014 L ower
COMPONENTS NUMBER NAME DIRECTIONS
‘ 56327
V S5 508

TEKNOROT REF: F-798

Suspension Control Arm and

(RP no. From:10828)
Ball Joint Assembly

Weight: 5568
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
Cc8 2002-2014 L ower
COMPONENTS NUMBER NAME DIRECTIONS
‘ SB 322
V SB 508

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ER 18’

aonpTAsLEFOR PELGEOT

OEMNO

1566629080
3521P6

OEMNO

aoaptaBLeror I TROEN

OEMNO

13668629080
3521P6

OEMNO



yr } TSXNOROT e

STEERING & SUSPENSION PARTS

TEKNOROT REF: F-798 apaPTABLEFOR FIAT

Suspension Control Arm and (Org. no. From:10828)
Ball Joint Assembly

Weight: 5,568
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
’ Front Right 1368629080
ULYSSE 2002-2011 L ower 2501 Pg
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ SB 322
y SB508
TEKNOROT REF. F-799 aoaPtasLEFOR PEUGEQT
Suspension Control Arm and (RP no. From:-10828)
Ball Joint Assembly
-
Weight: 5568
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
1368628080
807 2002-2014  Front Left Lower 500,55
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

‘ 585322
y SB508

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: F-799 aoaprasteror G TROEN

Suspension Control Arm and (RP no. From.10828)
Ball Joint Assembly

Weight: 5,568

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
1368628080

Cc8 2002-2014  Front Left Lower 2590.55

COMPONENTS NUMBER NAME DIRECTIONS OEM NO

‘ 58322
V SB508

TEKNOROT REF: F-799 apaPTABLEFOR FIAT

Suspension Control Arm and (Org. no. From:10828)
Ball Joint Assembly

)
Weight: 5568
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
1368628080
ULYSSE 2002-2011  Front Left Lower 500,55
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

‘ 585322
v SB508

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ TENOROT

TEKNOROT REF: F-971 aosprasLeror [VECO
Steering Tie Rod End T

-

Weight: 095 Length: 72 Bolt Metric: M18X1,5  Housing Metric: M20X1,5

MODEL NO BO0OY CODE YEAR DIRECTIONS OEMNO
DAILY I 19599-2006 Front 500310933
TEKNOROT REF: FO-1023 ADAPTABLEFOR FORD
Steering Tie Rod

| m——— —

Weight: 0645 Length: 2815  Bolt Metric. M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
6L273280A
EXPLORER U251 2006-2010 Front Inner 719739804

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



G meraT

STEERING & SUSPENSION PARTS

TEKNOROT REF: FO-1048 ApAPTABLEFOR. FORD

Suspension Control Arm and 1
. YEAR ONLY

Ball Joint Assembly 2001-2004

Weight: 4,682
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ESCAPE 1st Gen 2001-2007 Front Right ECO134300N
TEKNOROT REF: FO-1048 ADAPTABLEFOR FORD
Suspension Control Arm and
Ball Joint Assembly

Weight: 4682
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
MAVERICK 1stGen 2001-2005 Front Right ECO134300N

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



STEERING & SUSPENSION PARTS

(\ TNOROT

TEKNOROT REF: FO-1048 AoapraBLeFor MAZDA
Suspension Control Arm and

. YEAR ONLY
Ball Joint Assembly 2001-2004

Weight: 4682
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TRIBUTE 1stGen 2001-2006 Front Right ECO134300N
TEKNOROT REF: FO-1049 ADAPTABLEFOR FORD
4 2001-2004
Weight: 4682 W - A
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ESCAPE 1stGen 2001-2007 Front Left ECO134350N

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



’F S TSKNOROT

TEKNOROT REF: FO-1049 AoAPTABLEFOR FORD

Suspension Control Arm and
Ball Joint Assembly

Weight: 4,662
MODEL NO BO0OY CODE YEAR DIRECTIONS OEMNO
MAVERICK IstGen 2001-2005 Front Left ECO134350N
TEKNOROT REF: FO-1049 ADAPTABLEFOR MIAZLJA
/ 2001-2004

Weight: 4682
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TRIBUTE 1st Gen 2001-2006 Front Left ECO134350N

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



~

N TNOROT

V.

i\,) STEERING & SUSPENSION PARTS

TEKNOROT REF: FO-1191
Steering Tie Rod End

Weight: 044  Length: 75,7  Bolt Metric: M12X1,25

MODEL NO BODY CODE

RANGER I

TEKNOROT REF. FO-1250
Suspension Stabilizer Bar Link

Weight: 0,256  Bolt Metric: M12X1,75

MODEL NO BODY CODE

RANGER TKE

Housing Metric: M14X1,5

ADAPTABLEFOR FORD
Euro type

YEAR DIRECTIONS OEMNO
1454898
2006-2011 Front Outer b6M3543289BA
URB132280
ADAPTABLEFOR FORD
Standard chasis

YEAR DIRECTIONS OEM NO
1732869
2011- Front AB3130524A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ TENOROT

STEERING 8 SUSPENSION FPARTS

TEKNOROT REF: FO-2003 ApapTABLEFOR FORD
Steering Tie Rod

B ——

Weight: 1,005
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
EXPLORER 3rd Gen 2002-2005 Front Inner 1L273280CA
TEKNOROT REF: FO-587A ADAPTABLEFOR FORD
Suspension Stabilizer Bar Link Steel type

i

Weight: 0382  Length: 201  Bolt Metric: M10X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

EXPEDITION 3rd Gen(U324) 2007-2015 Rear /L175K484AB

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&NOROT

STEERING § SUSPENSION PARTS

TEKNOROT REF: H-521 aoapTaBLEFoR HONDA

Steering Tie Rod End . wmwmm

&

A

Weight: 047  Length: 165  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BO0OY CODE YEAR DIRECTIONS OEMNO
HR-V 2nd Gen 2016- Front Right 53540T7J003
TEKNOROT REF: H-522 ADAPTABLEFOR HONDA
Steering Tie Rod End W

-

Weight: 047  Length: 165  Bolt Metric: M12X1,25  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

HR-V 2nd Gen 2016- Front Left 53560T7J003

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



G=enoy seis

TEKNOROT REF.: H-661 ADAPTABLEFOR HONDA
Steering Tie Rod End

]

Weight: 0428  Length: 105  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

ODYSSEY IstGen-2ndGen  1995-2004 Front Outer 5354050XA02
TEKNOROT REF: JA-501 ApaprasLEFOR JAGUAR
Steering Tie Rod End

Weight: 099 Length: 1933  Bolt Metric. M14X2  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-PACE 1stGen 2015- Front T4A12525

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




{5 T=NOROT

TEKNOROT REF. JE-171 ADAPTABLEFOR _JEEP
Steering Tie Rod End

il

Weight: 1,348  Length: 270  Bolt Metric: M14X1,5  Housing Metric: M25X1,5

MODEL NO BO0OY CODE YEAR DIRECTIONS OEMNO

WRANGLER K 2007- Front Left Outer 52060053AE
TEKNOROT REF: JE-172 ADAPTABLEFOR _JEERP
Steering Tie Rod End At Front Pitman Arm

Weight: 0,946 Length: 270  Bolt Metric. M14X1,5  Housing Metric: M25X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

WRANGLER JK 2007- Front Outer 52060048AF

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF: KI-141 ADAPTABLEFOR KA
Steering Tie Rod End

Weight: 0,568

NIRO 1stGen 2017- Front Right 5682562000
TEKNOROT REF: KI-142 ADAPTABLEFOR [(/A

Steering Tie Rod End

Weight: 0588

| MODELNO  BODYCODE  YEAR  DIRECTIONS  OEMNO

NIRO 1st Gen 2017- Front Left 5662062000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 32




TEKNOROT REF. KI-156 ADAPTABLE FOR |/

Suspension Control Arm and
Ball Joint Assembly

Weight: 4,884
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
. 552400W000
SORENTO XM 2009-2014  Rear Right Upper 5524020000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
3 SB 630
TEKNOROT REF: KI-156 Aapraste FOR. HYUNDA/
Suspension Control Arm and
Ball Joint Assembly

Weight: 4684
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
) 552400W000
SANTA FE oM 2006-2012  Rear Right Upper 5594020000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

3 56650

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. KI-157 ADAPTABLE FOR |/

Suspension Control Arm and
Ball Joint Assembly

Weight: 4,884
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
552300W000
SORENTO XM 2009-2014  Rear Left Upper 559302P000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
3 SB630
TEKNOROT REF: KI-157 aoarrasLeror HYUNDAI
Suspension Control Arm and
Ball Joint Assembly

Weight: 4684
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
552500W000
SANTA FE oM 2006-2012  Rear Left Upper 5593020000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

3 56650

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ TENorROT

TEKNOROT REF: KI-273 ADAPTABLEFOR KA
Steering Tie Rod

= E——— |

Weight: 0,568
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CERATO 3rd Gen 2014-2018 Front 5654047000
TEKNOROT REF: KI-278 ADAPTABLEFOR (A
Suspension Control Arm and
Ball Joint Assembly

Weight: 3658
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CERATO 3rd Gen 2014-2018 Front Right 54501A7000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

. 56852
. 56833

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TNOROT

b !
W rccrinc o suspension pants MBER 18

TEKNOROT REF: KI-278 ADAPTABLE FOR |/

Suspension Control Arm and
Ball Joint Assembly

Weight: 3658
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
FORTE YD 2014-2018 Front Right 54501A7000
COMPONENTS NUMBER NAME DIRECTIONS OEMNO

. 5B852

. SB833
TEKNOROT REF: KI-279 ADAPTABLEFOR K14
Suspension Control Arm and
Ball Joint Assembly
Weight: 3658
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CERATO 3rd Gen 2014-2018 Front Left 54500A7000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

. 56852
. 56833

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(s TENOROT

TEKNOROT REF: KI-279 ADAPTABLE FOR |/

Suspension Control Arm and
Ball Joint Assembly

-

Weight: 3658
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
FORTE YD 2014-2018 Front Left 54500A7000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

. 5B852

56833
TEKNOROT REF: KI-563 ADAPTABLEFOR K14
Steering Tie Rod : %
Weight: 0,436
MODEL NO BO0OY CODE YEAR DIRECTIONS OEMNO
PICANTO JA 2017- Front 5654066000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



=
Ap ENOROT

TEKNOROT REF: KI-5673
Steering Tie Rod

o T —— i —

Weight: 0,503

MODEL NO BODY CODE

RIO YB

TEKNOROT REF: KI-5693
Steering Tie Rod

- ——— -

Weight: 0.68
MODEL NO BODY CODE
SPORTAGE aL

YEAR

2017-

YEAR

2015-

! EMBER 18’

ADAPTABLEFOR K1A

DIRECTIONS

Front

OEMNO

56540H8000

ADAPTABLEFOR K14

DIRECTIONS

Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

5772403100



yy
p ENOROT

TEKNOROT REF: KI-593
Steering Tie Rod

- ——

Weight: 068
MODEL NO BOOY CODE YEAR
TUCSON TL 2015-

TEKNOROT REF. LX-241
Steering Tie Rod

Weight: 0166  Length: 580

MODEL NO BODY CODE YEAR

GS 2nd Gen (5160) 1997-2004

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

Boit Metric: M12X125  Housing Metric: M14X1,5

aospraBLeror HYLUINDAI
DIRECTIONS OEMNO
Front 5772403100
ADAPTABLEFOR | EXLJS

DIRECTIONS

OEMNO

Front Right 4546059015



Py

TEKNOROT REF: LX-242 AoapraBLEroR | EXUS
Steering Tie Rod

<

Weight: 0166  Length. 590  Bolt Metric: M12X1.25  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
GS 2nd Gen (S160)  1997-2004 Front Left 4547059015
TEKNOROT REF. M-991 AoapTaBLEFOR MERCEDES-BENZ
Steering Tie Rod End only 161

Weight: 097  Length: 223  Bolt Metric: M18X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

7 W447 2014- Front Right 4474600348

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



yr } TSXNOROT e

STEERING & SUSPENSION PARTS

TEKNOROT REF: M-992 aowrrasLeFoR MERCEDES-BENZ
Steering Tie Rod End only 161

Weight: 097  Length: 223  Bolt Metric: M18X15  Housing Metric. M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
vITo w447 2014- Front Left 4474600248
TEKNOROT REF: MI-230 AoarTABLEFCR MITSUBISHI

Suspension Stabilizer Bar Link

; ;

Weight: 02682  Length: 138  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ENDEAVOR 1stGen 2004-2011 Rear MR589337

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: MI-5650
Suspension Stabilizer Bar Link

Weight: 0322  Length: 200  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR

PAJERO PININ 1999-2007

TEKNOROT REF: MI-620
Suspension Stabilizer Bar Link

—a

Weight: 0,32 Length: 2875  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR

GALANT 9th Gen 2004-2012

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

aopTasLeFoR M TSUBISHI

DIRECTIONS

Rear

OEMNO

MR510519

aopTABLEFOR M TSUIBISH/

DIRECTIONS

Rear

OEMNO

MR589457



TEKNOROT REF: MI-620 AoapraBLeFor M TSUBISH/
Suspension Stabilizer Bar Link -

—a

Weight: 032  Length: 2875  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ECLIPSE 4G 2006-2011 Rear MR589457
TEKNOROT REF: O-984 ADAPTABLEFOR (JPEL
Suspension Ball Joint

Weight: 033 Length: 692

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
Part of 953683676
HARL Cl16 2015- Front Part of 352556
Part of 95366368

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. R-810
Suspension Stabilizer Bar Link

Weight: 0296  Length: 202  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR

TWINGO n 2014-

TEKNOROT REF.: R-810
Suspension Stabilizer Bar Link

Weight: 0,296  Length: 202  Bolt Metric. M10X1,25

MODEL NO BODY CODE YEAR

FORTWO 453 2014-

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR RRENALIL T

DIRECTIONS

Front

OEMNO

546161175R

ADAPTABLEFOR SMART

DIRECTIONS

Front

OEMNO

546181175R



TEKNOROT REF: 8B 1109 ApapTAsLEFOR. BMIW
Control Arm Bushing

Weight: 015

2-SERIES F22F87 2014- Rear Part of 33326851569
— B-127 Lateral Arm Rear Lower 33326651569
TEKNOROT REF: B 1109 ApaPTABLEFOR BMIW
Control Arm Bushing N3

Weight: 015

2-SERIES ACTIVE TOURER F45,F46 2014- Rear Part of 333266851569

— B-127 Lateral Arm Rear Lower 38326851569

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 45




7
o ENaRaT

TEKNOROT REF. §B 1109

control Arm Bushing

Weight: 015

MODEL NO

COOPER

COMPONENTS

— e <

ADAPTABLEFOR MIINI/

BOODY CODE YEAR DIRECTIONS
F55,F56 2014- Rear
NUMBER NAME DIRECTIONS
B-127 Lateral Arm Rear Lower

TEKNOROT REF: §B 1236

Control Arm Bushing

Weight: 0,152
MODEL NO
i3

COMPONENTS

-

OEMNO

Part of 333266851569

OEMNO

33526851569

ADAPTABLE FOR BMW

BODY CODE YEAR DIRECTIONS
1st Gen 2014- Front Lower
Inner
NUMBER NAME DIRECTIONS
p1ag | COMOAIMANT | g it

Ball Joint Assy

Control Arm and
B-139 Ball Joint Assy Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

Part of 31106863740
Part of 31106863739

OEMNO

311066863740

31106663739



7
o ENaRaT

TEKNOROT REF: SB 1237 ADAPTABLE FOR BMW

Control Arm Bushing

Weight: 021
MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
. Front Lower Part of 31106863740
13 IstGen 2014- Outer Part of 31106863739
COMPONENTS NUMBER NAME DIRECTIONS DEMNO

Control Arm and ,
B-138 Ball Joint Assy Front Right 31106865740

B-139 Ball Joint Assy Front Left 31106863759

¢<:i Control Arm and

TEKNOROT REF: 8B 1241 AapTasLe FoR SUBARU
Control Arm Bushing

Weight: 0,172
MODEL NO BOODY CODE YEAR DIRECTIONS OEMNO
IMPREZA GE, GH.GR. GV 2008-2011 Rear Lower Part of 2020FG0O20
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
9—3 SU-235 Lateral Arm Rear Lower 2020FGOZ20

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



7
o ENaRaT BRI

TEKNOROT REF: SB 1241 aapaBLeForR SUBARL

control Arm Bushing

Weight: 0172
MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
FORESTER SH 2008-2013 Rear Lower Part of 2020FGO20
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
9——.‘ SU-235 Lateral Arm Rear Lower 2020FGO20
TEKNOROT REF: SB 1241 AoapTaBLEFOrR SUBARU
Control Arm Bushing

Weight: 0,172
MODEL NO BOODY CODE YEAR DIRECTIONS OEMNO
OUTBACK 4th Gen 2009-2014 Rear Lower Part of 2020FG0O20
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
9—_.‘ SU-235 Lateral Arm Rear Lower 2020FGOZ20

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



3 TXNOROT

\‘ STEERING 6§ SUSPENSION PARTS

TEKNOROT REF: 8B 1241 Aoaprasteror. SUBARU

control Arm Bushing

Weight: 0,172
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
XV 1st Gen 2012- Rear Lower Part of 2020FG020
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Q—....j"t SU-235 Lateral Arm Rear Lower 2020FGO20
TEKNOROT REF: SB 449 AoaprasLeroR TAYOTA
Control Arm Bushin
g YEAR ONLY
2006-2010
Weight: 012
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
Part of 487100R010
RAV4 XAS0 2006-2012 Rear Lower Dart of 4871042020
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
2 487100R010
B —— T-525 Lateral Arm Rear Lower 4871042020

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&XNOROT

TEKNOROT REF: SU-235

Lateral Arm

Weight: 0712
MODEL NO
IMPREZA

COMPONENTS

3

BOODY CODE YEAR DIRECTIONS
GE, GH, GR, GV 2008-2011 Rear Lower
NUMBER NAME DIRECTIONS
SB 1241 tontrol Arm Rear Lower
Bushing

TEKNOROT REF: SU-235

Lateral Arm

Weight: 0,712
MODEL NO
FORESTER

COMPONENTS

3

BOODY CODE YEAR DIRECTIONS
SH 2008-2013 Rear Lower
NUMBER NAME DIRECTIONS
SB 1241 CONTOIATTY | poar | ower
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ER 18’

aonprasLeFor SUBARL

OEMNO

2020FGO20

OEMNO

Part of 2020FGO20

aonpTasLEFoR SUBARL

OEMNO

2020FGO20

OEMNO

Part of 2020FGOZ20



{$ TENOROT

TEKNOROT REF: SU-235

Lateral Arm
A
Weight: 0,712
MODEL NO BOOY CODE YEAR DIRECTIONS
OUTBACK 4th Gen 2009-2014 Rear Lower
COMPONENTS NUMBER NAME DIRECTIONS
% SB 1241 tontrol Arm Rear Lower
: Bushing
TEKNOROT REF: SU-235
Lateral Arm
A
Weight: 0,712
MODEL NO BOOY CODE YEAR DIRECTIONS
XV 1st Gen 2012- Rear Lower
COMPONENTS NUMBER NAME DIRECTIONS
% SB 1241 CONTOIATTY | poar | ower
. Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

aonprasLeFor SUBARL

OEMNO

2020FGO20

OEMNO

Part of 2020FGO20

aonpTasLEFoR SUBARL

OEMNO

2020FGO20

OEMNO

Part of 2020FGOZ20




G=enoy seis

TEKNOROT REF.: 8Y-124 aosrasleFor SSANGYONG
Suspension Ball Joint

i

Weight: 0766  Length: 98  Bolt Metric: M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
ACTYON 1stGen 2005-2010 Front Lower 4454109005
TEKNOROT REF: 8Y-124 rosprasle FoR SSANGYONG
Suspension Ball Joint e

i

Weight: 0,766 Length: 98  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

REXTON Y250(facelift) 2006-2012 Front Lower 4454109005

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ TENOROT

TEKNOROT REF: T-525
Lateral Arm

y—"

weight: 1128

MODEL NO BODY CODE

RAV4 XA30

TEKNOROT REF. T-738
Suspension Control Arm

Weight: 6,864
MODEL NO BOOY CODE
LAND CRUISER Ja0

aoapTaBLEFoR TOYOTA

YEAR ONLY
2006-2010

YEAR DIRECTIONS OEM NO
487100R010
2006-2012 Rear Lower 4871042020

ADAPTABLEFOR TOYOTA

YEAR DIRECTIONS OEM NO
: Front Right 4806835080
1996-2002 Lower 4806835081

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



yy
p ENOROT

TEKNOROT REF: T-738 Aoaprasteror TOYOTA

Suspension Control Arm and
Ball Joint Assembly

Weight: 6,864
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
. Front Right 4806835080
4RUNNER NIBO3rdGen  1996-2002 Lower J80B835081
TEKNOROT REF. T-739 aoaPTaBLEFOR TOYOTA
Suspension Control Arm and
Ball Joint Assembly

Weight. 6864
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
LAND CRUISER Ja0 1996-2002  Front Left Lower 46069550650

4806935061

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: T-739 Aoaprasteror TOYOTA

Suspension Control Arm and
Ball Joint Assembly

Weight: 6,864
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
4806935080
4RUNNER NI80 3rd Gen 1996-2002  Front Left Lower 4806935081
TEKNOROT REF: V-433 aoaprasLeror |/OL KSWAGEN
Steering Tie Rod oL 0 3

R —

Weight: 0,731
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
CRAFTER n 2017- Front 2ZNO423810

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



